Tomatoes:    Determinate or Indeterminate?
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“Determinate” and “Indeterminate” are terms used to describe the ultimate size potential of tomato plants.  These terms do not indicate the size potential of the fruit although the largest tomatoes are usually grown on vines of indeterminate varieties.

As the word “Determinate” suggests, the plant size is limited and determined by its genetic make-up.  No amount of fertilizer, moisture, or other cultural practices can force its size beyond its genetic potential.  Indeterminate tomatoes plants on the other hand respond to favorable conditions with almost unlimited growth.

Gardeners wishing to impress their friends with ten foot vines and pound size tomatoes should select an indeterminate large fruited variety.  (All indeterminates are not necessarily large fruited.) 

Many persons with dreams of tree size vines have built large staking and supporting structures only to be disappointed with short compact tomato vines when they have unknowingly selected a determinate variety that needs little, if any, staking.  Black thumbs and the moon’s  phases are blamed by many.  Some determinates also are unforgiving of heavy suckering which is an important cultural practice for indeterminates.  

Determinate varieties are important in that a variety can be selected to fit the space.  Hanging baskets and potted varieties for example, are determinate.  Gardeners, who have a large space, may want to plant several plants of a determinate variety to reduce extensive stacking and heavy pinching instead of a few indeterminate plants.

Check your seed catalogue to find which varieties are determinate and which are indeterminate.

Review Questions
1.
On what variety of vine are the largest tomatoes usually grown?

2.
Determinate tomatoes plants can not grow past their predetermined growth, which is established by the plant=s _________________.

3.
What can be used to determine which plant varieties are determinate and indeterminate?

